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Probability and Right Triangle Word Problem Quiz Review

1) A boy is sitting on the floor flying a kite.  He has 275 feet of string.  If the kite is 210 feet high, find the angle of elevation (nearest tenth of a degree).

2) A ladder is leaning against a building.  If the angle of depression is 68º and the base of the ladder is 8 feet from the base of the building, how long is the ladder? 

3) A bird flies 5 km south and then files 12 km east.  How far is the bird from its starting point?

4) 2 buses left the bus station at 12:00 pm.  One drove south at 60 mph.  The other drove west at 52 mph.  It is now 2:00pm.  How far apart are they to the nearest mile.
5) Maggie was getting dressed for school one morning.  In her dresser she had 3 t-shirts (an Old Navy shirt, a Paul O'Neill shirt, and a Dora the Explorer shirt).  She also had a choice of 2 pairs of pants (jeans or sweats).  Finally she had to pick out her shoes.  She had a choice of Dora sneakers, Nikes, or brown shoes.  Make a tree diagram to represent all the possible combinations of outfits.  Use the tree diagram to answer the following questions: 
a) P(Paul O'Neill shirt)  
b) P(not brown shoes)           

c) P(sweats and Nikes)
d) P(Sweats or Nikes)          
e) P(Old Navy and jeans and Dora Sneakers)
f) P(Adidas)                       
g) P(sweats or jeans)            

h) P(sweats and jeans)

